| N of simulated tracks vs dxy | N of associated tracks (simToReco) vs dxy |

0 )
Q@ o
Q =
5 °
[¢] 3 40—'-)
Dz.D 10 o
= 2
=~ 17}
O c
g 3
ol 2 O

10 x

10E ST SO TS SO SO U UUNt SRURRTY SORRUUN SERUOUAUUURNE SUUO

1:'
otuo _i- i : : otvor
T 5 H T
o 5 ; @ r
1% - Iilll H e 1_— ---------------------------------- e S REE LR ERE TR P
0.5t LI A0 GO ORI Qe 005t i Ml
-25-20-15-10 -5 0 5 10 15 20 25 -25-20-15-10 -5 0 5 10 15 20 25
TP dxy (cm) TP dxy (cm)

Fit_XiMinusNOPU_NEWdefault_specPLess1
Fit”_XiMinusNOPU_NEWdefault_specPLess2
Fit_XiMinusNOPU_NEWdefault_specPLess3

M—MRETe_XivimusNOPOew-towpt
mk
mk
mk
mk

—a— D
—~— D
[N of simulated track —— B
—— D

Fit“XiMinusNOPU~NEWdefault“specPLess4

[7p] [7p)
Q O b
O =
© Lo} T T
& Jai
(&) Lo e e e e e e it e e e ateeeeaeceeeaboeecaeaeeeedaaaaaaaaaan
(o)) =]
£10 =
X 0
(&) [
g 3
— [}
e

1k S5 e e
,:: IIIrllllrllllIll--l I-I-I-I--I I--
IQ.L.U\J_ : : .9_1_,\_}\)
2 [ 2
e K : o
1:1:- -4 -mr;n- - 4 Sttt -
°®¥30 20 -10 0 10 20 30 °®¥3p 20 -10 0 10 20 30

TP dz (cm) TP dz (cm)



	Contents
	Page 1


